1.

wfel 7ho] mFas Al Q5uich w7k R 137 o Wby
=of 52

(1) =i 9] 7H—r°ﬂ/\'1 7ro] 4= wiE 2 A AY7t?

(2) vh2 HIHS A L.
W [ 24 [ 25 ] 26 ] 27 | 28 | 29
|1

(3) Mok 2ol B 45 7] 912 o, 7] A4 B AU

n

i

(1) 13

0
o

(2) 12,13,14, 15,16

vV V. V. Vv v VY
X
it

0
o

3) 16 7N

(2) Hi | 24 | 25 | 26 | 27 | 28 | 29
Z 11|12 |13 | 14 | 15 | 16

() Z2te) 52| G FIHE 2Tt TE.
Hfj 24 |25 |26 | 27 | 28 | 29

& |11 12|13 14| 15| 16
FEOF | 35 | 37 [ 39 | 41 | 43 | 45

webd 218 BEskE 7 A4t 167G,




2. 1ol 250991 Aol glguich. TR B8l HakAl e,
(1)274% AHA Aoz
(2) MZHE A9,
A1 2131456
Ar 7L 250
(3) 1500 9O2 AL B A 4 5 AU
(1) BAZ ToA S,

> =

> =

> E.

> =

> HED (1)500¢

> e @z

> &He D 3)67H

D e D @) AR g2 AR 59 250 Hi U T AR S AYR
e 250 02t Ay

B

(1) 5004

) AFEE 1 [ 23] 45 [ 6
AF gk (2505007501000 [ 1250 [ 1500

(3) 671

(@) AF 32 A 9] 250 M Y T

Ate = AV ZEhS 250 0 2 Ue dytt




e
§17t

-

37} 54
ul o
—

n ofl

=< rlo

2~
T

}o

Rk

L O,

[o il

=
==l
o

39| ol

—| mu Lo

0

13

15

A o]

FEER

16

18

19

20

A9 el

10

39| ol

17

18

19

20

21

22

49| o]

12

15

0x
L
S
o

0
i
5
o

(2)

€)

e
ol
EN

v V VvV v v VY
0%
o
i)
ml

2
ml

BN

EN

29| o]

10

11

12

13

14

15

549 o]

10

11

12

13

29| o]

15

16

17

18

19

20

A9 el

10

11

29| tpe]

17

18

19

20

21

22

59| o]

10

11

12

13

14

15




the B B3 a%te Atolo] BAE A0 EhiAL,

(1) A 1 2 3 4 5 6
©|12]22]32 |42 |52 |62

@) A | 44 | 45 | 46 | 47 | 48 | 49
©| 5 4 3 2 1 0

(3) A 1 2 3 4 5 6
©|08]18]28| 38|48 |58

HED a+0=49

>
>
>
> HE Me=a+02,2=0-02
>
>

HED B a=0+02,0=1-02

(1) @=2+02
A=0-0.2
2)a+0©=49

(3) A=@+02
©@=na-02




5. e dsEAM O ghol 15 & W, o] g2 Lty

Olo
Ne)
=
o
—
—

1213

> =

> ®e: 9

3—9,4—10,5— 11, --- 0|22
+6 +6 +6

o=0-6Y4rtt -15-6=9




>
>
>
>HEFE 1)O4+0=10,0=10-0,0=10-0O
> HeE @Q0O=0+17,0=0-17

>

HED 3)0O=o0+4,0=0-4

(1) O+o=10
o=10-0O
O=10-oO

(20 O=o+17
o=0-17

(B) O=o+4
o=0-4




ofrjU o] QA 44 Alo] 3, 5 F-0] thol i 12 Aiurh. ojm 9]
A7} 50 Aloldl ulF-0] Lol B Alo] BZAL 7

> E:

> =E 184

I

027} o U e} 44 — 12 = 32 4 o] ¢ H5Utt,
wrabA] ojw Y7t 50 A7 EH B]F= 50 - 32 = 18 (A) o] HY
c}.




}\

3 <]
L}o

o] B} 7AF ks

=2 1w’y

1= 2 dup

I

U, 24 542 to]7}




It

407 717

=

=

o]o} Tt 4 5ol

QU712

F

17 %

.

ul

A A




13

12

11

10

A9

® ar=0-8

GDA=D+8

O Ar=0+14

® aA=0x3

o-2

A

O+8 = A

tA=0+438

=

Ao et




11. o] dAAl= 394101, W troli= 1040t U7} 174 o] =,

ob# A= @ Al7H HU7A?
obH A (A) [ 39 | 40 | 41 | 42
G(d) |10 |11 |12 13

= Al

>
> ®ebl 464

10+29 =39, 11429 =40, 12+29 =41, ---
- 17+29 = 46







